LKEF>

BER

F28E BRENMNEENL—R—ILFAKRE

SF6&FE3A[108 (A)

X FAREKR TR, S0 EEKRBERITS,

SAvTvyTERR

Al:-E2H. BE®O2F—L.B1:MINOKAYA, C1: HE. HEITHEMNT B,

Wt

1

A-1

Hal
A

21 _ 9
21 - 13} 0
A-3

21 _ 17
2{21 - 17}0

E H

A-5

12 - 21
2{ 21 - 19
17 — 15

MINOKAYA

faKhn

B-4

}1

A

Mt

21 _ 8
2{21 - 14}0

A e

1

B-2

19 _ 21
21 - 14}1
15 = 12

1

21 _ 16
16 - 2ﬁ1
15 = 1

11 X x
24 A ode
3fi B IR
3fi E R

BAEAREXLEEE
B-1 R
21 _ 3
2{ 21 - 11}0
C-4 2L
21 _ 15
2{ 21 - 15}0
c-3 i
21 _ 12
2{21 - 9}0
c-5 G
21 _ 15
2{ 21 - 14}0
c-2 G
21 _
2{21 - 6}0
A-4 ]
21 _ 5
2{ 21 - 10}0
- =+
c-1 =
21 _ 1
2{ 21 - 1:}0
IR




F28EH BRE/NEENL—FR—ILHFAKE

$F6&E3/108 (B)

SRETL—=2 T Ers—

X FEIREKR TR, S0MEEARBERITS,

ATy EREE. F2RHED2TF— L HEFIERENT D,

N

<KB¥>
= 5
D-1
21 _ 0
2321 - 0 O
'
(ZEH8) D-3
21 18
2421 - 970
fBER
........................................ D_2
21 _ 8
2321 - 8( 0
= N
5]

iz e
2fi Io—F
3fi B EE
3fi T

W o
E-2
21 _ 19
2{16 - 21}1
15 7 10
b
19 _ 2
2421 - 107 1
157 4
B &
E-1
21 _ 8
2{21 - 17}0
IH—F




F28EH BRE/NEENL—FR—ILHFAKE

$F6&E3/108 (B)

IEEER
<EE> ) )
X BWIHAKRT %, SONBERBERT S,
FAVT U ERRIE. F2RED2F— L, HEFRENT D,
I — - I\
........................................ E
%

21 _ 0 22 _ 20
2321 - 0 O 2{21 - 19}0

LI
=
= % xE t# 42
it
I

() F-3 G-3
15 _ 21 26 _ 24
2< 21 - 147 1 F-4 217 - 217 1
15 = 10 2 2 15 7 1
2{21 - 1441
P 15 7 1 "
S a1
F-2 G-1
16 _ 21 2 _ 2
2325 - 23 1 2d 18 - 2141
15 7 1 15 7 13
E IR =
[=]

14 E- N4
2% % R
3 I\ B
3fi %




